
Answers: 

II. Read the statements below and then decide if they are True (T) or False (F) 

1. Donkeys are not needed in today’s economy.                      F 

2. The Ancient Greeks had a railway system in 800BC.          F 

3. The very early railways connected a lot of cities.                F 

4. British passengers first travelled on trains in the 1820s.      T 

5. ‘No-frills’ airlines are popular because they are costly.       F 

6. Some courier services use their own convoys of planes.     T 

 

III. Join the first half of the sentence in Column A to the correct ending in  

Column B. 

                       Column A                              Column B 

1 Many remote communities need  

mules 

A to transport non-food goods. 

2 British railway networks developed   B but are needed by industry and  

governments for quick transport. 

3 Many countries have an effective 

network of railways 

C because they can deliver a more  

efficient service. 

4 Railways are extremely expensive to  

construct 

D because more passengers and  

businesses are using air transport. 

5 Some courier companies now have 

their own fleet of planes 

E to transport food, raw  

materials and essentials. 

6 Airports are getting busier F extremely quickly during the  

mid-19th century. 

 

1. E    2. F   3. A   4. B   5. C   6. D 

 

V. Choose the correct word to complete these sentences. 

1 The train started slowly but soon revved / picked / pulled up speed. 

 

2 I hate drivers who cut / block / flag in on you when you’re driving on a 

motorway. 

 

3 You pull/ blow / change down when you want to reduce your speed. 



 

4 I wish my neighbor wouldn’t rev/ blow / change up outside my window early in 

the morning. 

 

5 Take care when you blow / change / pull out to overtake. 

 

 


